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1 TA7R— st w o kA R R
(a) MP3
(b) WAV
(c) AU
(d) RA

2. -5 2304 x 8fFyr R OV F Y E RE A @‘ﬂﬁ AR R E T Y
(a) 10664 K
(b) 11664 K
(c) 12664 K
(d) 13664 K
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(a) on (press) { }

(b) on (rollOver) { }
() on(rollOut) { }
(d) on (dragOver) { }

4. BRFET R 3 MAQRBIRK LT A8 BFE G R
(a) <a href="nhttp://elearning.ntcu.edu.tw">E i* # & % zt</a>
(b) <a href="ftp://www.ntcu.edu.tw"> > ¢ &5 ~ & FTP z:</a>
(c) <a href="mailto://help@mail.ntcu.edu.tw">4 + ffr</a>
(d) <a href="telnet://bbs.ntcu.edu.tw"> = ¢ # 5 =~ § BBS #t</a>
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(a) BMP
(b) GIF
(c) PNG
(d) IPG
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(@) FTP 4 % —'M\ %t % @ o R T Saport & 23
(b) HTTP 2 %> t—fw Ktz e AT o BER Y port 5 80
(C)HTTPS t2 2_» £ & F 4 R HTTP T@ﬁ%ﬁ%&;’ OF g sk BTG nT RN E &
4\1%
(d) A BE 5 HTTP #2227 » HTTP Server 2 4 = & 8 @ g Client :3 e~ 2 & £ 3 3w
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(@) & o 247 & 2 42k & 5 NTSC & 5::352x240, 30FPS
(b) i =:# Z 1500 bps
(C) #%% g s 5] GOP( Group of Picture)- 4% % %7 17 IBBPBBPBBPBBPBBI 78 &
() DVD # % je gk * o fife 5t

8. &3 pF > H ¥ - B4rF 4#icResolution 5 16bit> * & £ 5 @
(a) %‘q mF\ %Af/l\:q I?J_Fmrﬁ, 16 bit
(b) %% ) F & )B4k 65536 =
() &5 ) 77 16 B &3
(d) ¥3 ehp % izt A 5 65536 14 &

9. TAIIREGLART 0 kR Bt SRR
(1).Authorware  (2).Flash (3). CorelDraw  (4).Adobe Photoshop
(5).Painter (6).Photolmpact (7).Director (8).MediaShow.
(9).Visual Basic  (10).Adobe Premiere (11).Window Movie Make

() (2)(8)
(b) (3)(4)(5)(6)
() (4)(6)
(d) (M)(7)(9)
() (8) (10)(11)
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(= ) Using the following BNF grammar
<if-then>::= if <condition > then <write >
< condition>::= ( <var> <compare > <var> )
<write>::=write ( <var>)
<var>:=A|B
<compare>:= = | < | > | <>
to draw the parse tree for the following if-then statement:
if (A>B) thenwrite (A) (10%)
(= ) Please briefly describe the six main phases (functions) of a compiler. (10%)
( = ) Can we redo transactions in the redo-list before undoing transactions in the undo-list in the
recovery process? Justify your answer. (10%)
(z) j2ff &30 ¢
(1) unicode (2) black box testing (3) Round Robin (4) DNS (5) MFLOPS (10%)
(7 ) Please indicate at least four programming language paradigms, describe their characteristics

and give an example language in each. (10%)

=~ E B (A 5%)(50%)

1. Simplify the (X+Y)(X+Y) functional expressions using Boolean algebra and its identifies.
(A) (xty)
(B) 1
©o
(D)xy
2. Suppose a computer using fully associative cache has 2*° words of main memory and a cache of
64 blocks, where each cache block contains 32 words. How many blocks of main memory are
there?
(A) 2°
(B) 210
(C) 211
(D) 212
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3.Suppose a disk has the following characteristics: 4 surfaces, 1024 tracks per surface, 128
sectors per track,512bytes/sector, track-to-track seek time of 5 milliseconds, rotational
speed of 5000PRM. What is the access time?

(A) 10ms
(B) 11ms
(C) 12ms
(D) 14ms
4.What is the lowest time complexity?
(A)O(2")
(B)O(n?)
(©)0(n°)
(D)O(logz n)

5.The one of the following which can BEST be used as measure of system performance is
(A) print time
(B) access time
(C) computer availability
(D) throughput

6.A RISC processor has 8 global registers and 10 register windows.Each window has 4 input
registers,8 local registers,and 4 output registers.How many total registers are in this CPU ?
(A) 32
(B) 64
(C) 128
(D) 256

7337 - RAM> Hi=pt&s 2405 FTH&AF 8if > 3 Fiz® RAM vy £ 5 ¢
(A) 16M bytes (B)128M bytes (C) 512M bytes (D) 4G bytes

8By 3 Al A H - P MWentoken L
(A) Lexical phase (B) Semantic phase (C)Syntax phase (D) Code Generation phase

9.0 i A FHAR?

(A) Hamming code (B) CRC (C) Check sum (D) RSA

10. Tht 2 Bt d TR TR

(A) B* % (B) #k (C) #i 4 (D) FrE#K
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- ~Ais 2-dimensional array A(m,n), the location of A(3,2) is 11100 and A(2,3) is 1115.0).
Assume that each element occupies one address, then what is the location of A(1,4) - (10%)

\

~ Convert the following infix expression to postfix (10%)
A/B*C + D**E-A/C*F

fu

~ Draw the binary trees that result from deleting the node with key value 17 from the following
two trees : (10%)

o~ FR 3 R A2 hash F e 2 7 (10%)
I -~ Please analyze the time complexity of the following program segment. (10%)
for(1 = 0; I<n; I++)
{
J=1,;
While (J>=2)
J=1J12;

= ~ Please write out the pseudocode of the Floyd’s algorithm to solve the all-pairs shortest path
problem for a graph with n nodes. (10%)
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= s -kw M rar=1, a=2, a=2a,1+ 3ap+1forn>3 > :EH - recursive JF & £ E a, o

(10%)
A ~ (a) Construct a Huffman tree and code for the following data : (4%)
character A B C D -
Probability 0.4 0.1 0.2 0.15 0.15

(b) Encode the text ABACABAD using the code from part (a). (3%)
(c) Decode the text whose encoding is 100010111001010 using the code from part (a). (3%)

1 ~ What is the largest k such that if you can multiply 3x3 matrices using k multiplications (not
assuming commutativity of multiplication), then you can multiply 3x3 matrices in time

O(n'gz7) ? What would the running time of this algorithm be? You should justify your answers.
(10%)

. ;,wg?] »FhE (41,22,6,28,2,12,8,14) - 12 select sort #-y¢ Lﬁi?l/\ﬁjd )@
ETRUSE NN S N S pt T A ﬁ*ﬂ—\ﬁ&#%ﬁﬁt‘ F - P ’ij'a‘_
Bard - X E 612 28 0 8 1 (10%)

step 0 (41, 22,6, 28, 2,12, 8, 14)
stepl (41, 22,12,28,2,6,8,14)
step 2
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6.

. If the dinosaurs came back to Earth, they

+ Vocabulary and Grammar: (= 2% > H 209%)

The can opener seems to be very complicated,; , it is a relatively simple
device.
(A) and (B) but (C) nevertheless (D) furthermore

. An obsession the brand-name bags and shoes makes her a credit card slave.
(A) with (B) for (C) of (D) in

. The Love River, which is now the most famous in Kaohsiung, used to be

seriously polluted in the past decade.
(A) milestone (B) landmark (C) trademark (D) landmine

. The view of The Pinnacles in Australia is !

(A) amazed (B) spectacle (C) spectacular (D) magnificence

. History says Leonardao Da Vinci did not even name any of his particular painting.

None of his works, including Mona Lisa, was by him.
(A) entitling  (B) titling (C) naming (D) titled

We have new kitchen , including a stove, fridge, dish washer, and microwave
oven. Now, we can start cooking our meals at home.
(A) goods (B) cargos (C) hardware (D) appliances

. He is not a suspect because he has a good ; He said that he was out of town

visiting his sister on the night the robbery took place, and his sister testified to
substantiate this.
(A) alibi (B) proof (C) document (D) identification

huge disasters and chaos.
(A) can create (B) do create (C) would create (D) are able to create

9. Although this tale of Frankenstein is a version of the original novel, it loses

none of the strength and flavor.
(A) shorten (B)shorting (C) shorted (D) shortened

10. Dracula is a tale about a vampire who comes to England to find new

blood to feed on to widen his circle of vampires.
(A) chill (B) chilled (C) chilling (D) chilly

6 DR )




- ~ Reading Comprehension(=) i 2% > H 20%)

Tales do note merely entertain, but also often provide important themes. Take E.
B. White’s Charlotte’s Web as an example. This is a story about a little pig called
Wilbur, who is sold to a farm. Young and innocent Wilbur is just starting his life, and
is making friends in the barn. He soon learns that as a pig, he will be butchered when
the weather turns cool. This news causes Wilbur to fall into a frenzy. Charlotte A.
Cavatica, a spider living in the barn, overhears what is going to happen to Wilbur. She
decides to lead a hand to Wilbur and promises to save him. She soon comes up with
the idea to spin words into her web that describe the pig as “radiant, terrific, and
humble.” The owners of the farm are stunned upon discovering the words. Soon, as
the news spreads of this miracle, many people start to come to see Wilbur. Wilber
becomes famous. In the end, the pig avoids his fate of being killed, but Charlotte is
doomed and dies after giving birth. Wilbur brings Charlotte’s eggs back to the farm so
that the life of cycle in the barnyard can be continued. Wilbur never forgets his friend
Charlotte. Because of her, Wilbur’s life is secured into an old age. This story
entertains us through its wisdom, pathos, and beauty. It also portrays what true
friendship is.

1. What is the author’s main purpose in this passage?
(A) To explain how tales can function
(B) To explain how tales structure themselves
(C) To explain how important an animal tale is
(D) To explain how animals can help each other

2. According to this passage, who is the one that most demonstrates wisdom?
(A) Wilbur
(B) Charlotte
(C) The people
(D) The owners of the farm

3. According to this passage, how does the story entertain through pathos?
(A) Wilbur is an innocent pig.
(B) People like to come and see Wilbur.
(C) The owner of the farm finds the miraculous words.
(D) After Charlotte gives her help to Wilbur, she dies.

4. According to this passage, which of the following statements is Not True?
(A) The eggs hold Charlotte’s children.
(B) Wilbur is supposed to be killed in the Fall.
(C) Wilbur is given the chance to live longer.
(D) Charlotte is a radiant, terrific, and humble spider.

5. Which is the major moral in this passage?
(A) Don’t be afraid to ask for help.
(B) Don’t forget to pay back what you receive.
(C) The good is rewarded while the evil receives punishment.
(D)A true friend will help without expecting anything in return.
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An increasingly common phenomenon in the Internet age is the “urban legend,”
a type of story spread rapidly via the World Wide Web. Most urban legends share the
following characteristics: they are humorous and/or shocking, they claim to be true,
and they make a good story. A classic example of this phenomenon is the legend of
alligators inhabiting the sewers underneath New York City. According to the legend,
a number of New Yorkers brought back baby alligators from vacations in Florida, but
grew tired of their pets and flushed them down the toilet. The alligators survived and
bred and there is now a colony of crocodiles living under the city. Most regard the
story as total fiction, but there are a few who claim it is true.

6. What is the best title for the above paragraph?
(A) A Colony of Crocodiles (B) The Internet Age
(C) The World Wide Web (D) Urban Legend

7. Which one of the following answers is NOT a required characteristic of an “urban
legend?”
(A) funny (B) astounding (C) with a good plot (D) artistic

8. What does this word “inhabiting” mean?

(A) prohibiting (B) exhibiting (C) living in (D) occupying
9. What does this word “sewers” mean?

(A) sawing factories (B) sawing machines

(C) outdoor farms (D) underground ditches

10. According to the above passage, which statement is true about the “urban legend?”
(A) The “urban legend” describes life of city people.
(B) The Internet expedites spreading of hoaxes.
(C) Most of the “urban legends” are touching true stories.
(D) Some have really seen the alligators in the sewers of New York City.

=~ English Writing (10%)

We are learning everyday and everywhere. We learn from the school and we also learn
from outside the school. Compare different knowledge that is gained from school
education and from personal experiences outside the school. In your opinion, which
type of knowledge is more important? Why?
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